SH3EEEH—FERERERE (BM:.7.71~8.13)

BHEETHE ENRR _
HE: | ERRR e [EYEE Lo LT O | = SEEER
ERIEE | BRE [ BRE0 |LREEL| ZOk |EE-2B|EE 25| HEGS | DREZ | ok | LEHHK
1365 T | BECHE RU®S | FLaHS R
DE#E
1) (2) (3) (4) (6) (10) 1) 12) (13) (14) (15) an
BAENERTE (BEFHFHODANEOH DR FK) 77 0 0 0 0 0 0 0 0 0 0 0
BEABRFT %X (AEFXHFDBADHORFE) 83 0 0 0 0 0 0 0 0 0 0 0
B o B = 3 195 0 0 0 0 0 0 0 0 0 0 0
5K 3 B 7= 2 2 0 0 0 0 0 0 0 0 0 0 0
ay JRABBHRER (BB ®SE - BERNRE) 14 0 0 0 0 0 0 0 0 0 0 0
# ] B = 3 137 3 0 0 0 0 0 0 0 0 3 0
5 Ed 2 9 R = 3 165 0 0 0 0 0 0 0 0 0 1 0
* B o R = 2 120 0 0 0 0 0 0 0 0 0 0 0
B E &R 5 B M B OE I Kk B R OFT E 0 0 0 0 0 0 0 0 0 0 0 0
= D E = T D x 3 h 7 26 0 0 0 0 0 0 0 0 0 0 0
I 5 w A — 156 2 0 0 0 0 0 0 0 0 2 0
BENERFTHEC otéﬁJiJ.% (o Jj‘tEEJEJiJLﬁE (ﬁéﬂ&@ =
A 5% B ) % & < 5 0 0 0 0 0 0 0 0 0 0 0
|z o i o & #H - fk # B X 233 0 0 0 0 0 0 0 0 0 3 0
RNEE - MLE (&%’13*""1&0)&&( K YUHRBHLED
5 h = & m Y o B & F B < ) 0 0 0 0 0 0 0 0 0 0 0 0
W b W 3’ E B S 0 HE E - T & 0 0 0 0 0 0 0 0 0 0 0 0
O— kb — 8% - mMITE (R0 RBEER, D) 0 0 0 0 0 0 0 0 0 0 0 0
=] [=] 1] &
BE E B ® B # & # fm T % ’ 0 0 0 0 0 0 0 0 0 0 0
Tk ¥ e & hn I ¥ 0 0 0 0 0 0 0 0 0 0 0 0
= 18 ] i n I ¥ 0 0 0 0 0 0 0 0 0 0 0 0
i = E) % ES 0 0 0 0 0 0 0 0 0 0 0 0
] ES ¥ 1 0 0 0 0 0 0 0 0 0 1 0
pii] = &l & . o T E3 2 0 0 0 0 0 0 0 0 0 0 0
[ & B a ® ¥ 5 0 0 0 0 0 0 0 0 0 0 0
D i o & B S #H & m T £ 17 0 0 0 0 0 0 0 0 0 4 0
17 & 0 0 0 0 0 0 0 0 0 0 0 0
E3 # B i B 51 1 0 1 0 0 0 0 0 0 1 0
= 2, B # 8 ¥ o & & - m I %
(EERBEBENEAINIE-REXXIIERBEDOERE, MIICE
F3 ) 0 0 0 0 0 0 0 0 0 0 0 0
BIE, RERIEHZEIC ﬁ(#éﬁkﬁo)kﬁto)kﬁt 2, BEXLAK
= h g % ) 0 0 0 0 0 0 0 0 0 0 0 0
Z ) | 1 0 0 0 0 0 0 0 0 0 0 0
il T 1201 6 0 [ 0 0 0 0 0 0 15 0




